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(1)F, = 10° x 3 X 0.7(1 + c0s30°) x 0.7(1 + cos30°)

= 0.85 x 10® kgf/m = 8.33 kN/m

210 1
F, = [% x 7 x 0.7% +{0.7 4+ 0.7(1 + c0s30°} x 0.75in30° x 5]

=12.23 kN/m

(2)F, = 0.4 x 10* x 0.7(1 + c0s30°)
=5.22 x 10® kgf/m = 52.2 kN/m
F, = 0.4 x 10* x 0.7sin30°
=1.4x 10® kgf/m = 13.72 kN/m

Pa — Pag(0.86 + 0.11) = p, — ppg(0.61 + 0.11) — p’g(0.22)
Pa — Dy = 2.43 kPa = 0.0248 kgf/cm?
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tan 0 = %, 0= arctana—m, 0 =14.0°
g g

(l)pl_pQ _hi—hy Az

120tané = 30cm
Q=12x0.3x % % 0.6 = 0.108 m3 = 108 L
G =~Q = 108 kg
(2)Fy = 10% x 0.3(0.6 x 0.6) = 0.108 x 10° kgf = 1.058 kN

Fy =10 x (0.6 — 0.3) x (0.3 x 0.6) = 0.027 kgf = 0.26 kN
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